@'KidsDigitaal

Tafelvan 1, 2, 3,4, 5en 10

Alles door elkaar.

n Oefen de tafels. Wat is het antwoord op de som?

4% =40 7x4=
2% =16 .
............. x3=18 7x2=
4% =28 4x7=
I3x2= ... 8x5=
9xX5= s
8x4=_..... 4% ...
4x7= ... 3% ..
............. x3=24
............. x5=25

............. x1=3
1x4=...... 5x3=
10x4=...... 2% ...
5x5=....... 4% ...
............. x 3=30
............. x3=6 3% ...
2x5= ... 2% ...
3X3= s
4x8=......... 2% ...
............. x10=10 3x1=

4% =16 .
............. x1=5 4x ...
4x2= ... 4x3=
5x4=_..... 8x ...
9X3=.is
4% =24 2% ...
............. x9=18 2% ...
............. x2=4 3% ...
5XT= s
10 % e, =20 10x2=

............. x3=27 2% i =
20 4x3= . 7Tx4=......
2x5= ... 3 X i, =
............. x4 =28 8x1=.......
............. x3=24 e X2 =
=40 2% =4 x 3=
12 2% =6 4% s =
27 1% s =9 x2=
16 x4 =36 10 % e
12 5% . =45 . x4 =
7T x4 =32 2% =
............. x4 =12 v X3 =
16 x2=6 6x4=.......
16 1% s =5 5% i =
10 8x5= ... 4x7= ...
12 x 3 =27 2% =
10 9x2=...... 3 X i, =
15 x2=12 2% =
12 10x4 =, x2=
I3x2= ... 3 X i, =
18 4% =36 @ x7=
20 x2=14 ... x4 =
4% =12 x2=
40 2x2= ... 1x7 =
12 x1=3 3 X i, =
4 5X3=.iis x 3=
2 5x7=...... 4% =
27 I3x2= ... 8x4=.....
9 Tx4=...... 1x3=...
..... 3% .. =24 9x5= ...
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............. x4=32  A%......=8 3x4= ... e X 2214
8x5= ... 10%x3= 3% i, =27 x3=9
101 % s e x3=15  AxT7=..... 10%5= e,
............. x3=6 e X5=35 9xB= 6X2= .
............. x2=10  4x1=..... 3% i = 21 8x4= ...
8X3= s e x2=18 x2=18  5x2=.....
3% i, =9 4% e, =28 x6=12 e x 7 =21
7% e, =21 BX3= e e X322 e x2=4
3% i, =6 x5=20 e x4=28  3x5=.....
............. x2=4 e X416 4x =36 L.x3=24

H Oefen de tafels. Wat is het antwoord op de som?
8X3= s e x3=9 A% o =28 x4=16
............. x 7 =21 6x4= 1% e = 7 8%5= ..o
A% o =28  7x5= ... A% o =8 2%2=
BX2% e e x1=4 A%X3= e x 10 =10
7X3= 2% i, =6 4%2= e 2% i, =12
A% o =24 x5=35 ... x2=4 6x4= ...
2% i, =20 x4=16  4x ... =36 2% ... =6
............. x2=18 3% ......=21 5X3= . 3% e = 30
............. x3=18  3x......=18  .......x5=40  9x4= ...
A% o =8 X126 e x10=30  3x7=.....

E Oefen de tafels. Wat is het antwoord op de som?

A% o =28 x8=24  10x2=...... 2% i = 18
3% i, =24 3x...... =30 x4=16  6x3=.....
............. x2=6 7x5= ... e X127 S [VEP )
2% i, =18 x4=40  5x3=..... Tx4= ...
............. x4=36  9x2=..... e X 4228 6X5= ..
3% i, =3 Tx4= ... 3% i =9 x 3 =21
............. x4=24  2x......=18  2x.....=4 e X2 4
BXB= i e x 7 =21 1% e =6 BX oo, = 40
A% o =40 3% ... =9 3X7= 2% i = 14
............. x4=12  4x9=..... e X 2 8 e X 2216
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............. x2=18 e X4 =
2% =4 10x3=.............
3 X i, =30 3x4=......
8x3=....... 4x2= .
5x5=....... 3 X i, =
............. x7=21 2% i =
2x4= ... 8x4=_......
............. x2=16 2% i =
3 X i, =9 x4 =
4% =16 5x8=........

TX2= s e x4 =
............. x2=20 e X T =
4x1=...... 5x8=.........
9X3=.is x4 =
5% . =35 x 3=
............. x5=15 10x2=......
............. x1=9 TX i =
2% =12 x 10
............. x2=18 e X3 =
4% =24 IXT =

S5XT = s e x4 =
............. x4 =32 6x3= ..
............. x4=24 2% i =
2x3= 8x4= ...
............. x2=12 3x5= .
1% i =4 6x4=......
4% =28 3 X i =
4x7= . 3 X i, =
Tx1= TX s =
............. x4 =36 TX2= s

6x1=......
............. x3=15
8x4=_.....
............. x2=10
3 X =15
4% =28
4% =8
6x2=......
............. x3=24
............. x2=6
Tx2=. ..
2% =12
5x3= ...
9x4=_.....
............. x1=4
5x2=......
............. x2=18
............. x2=14
............. x3=27
2% =18
............. x3=6
3 X =15
............. x2=16
............. x2=20
............. x4 =36
Tx4=_ ...
5% . =25
3% =9
............. x3=12
............. x 8 =32
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Alles door elkaar.

m Oefen de tafels. Wat is het antwoord op de som?

2% =12 x4 =12 4% =28 x1=8
4x7= ... 4x4=..... 2% =12 x3=18
2% =8 x7 =28 8x3=....... 3x5= ...
3 X i, =30 9% =27 4XT7= s x4 =32
I3x2= ... 4% s =24 3 X =15 8x2=.......
1% =3 e x7=21 4% s =12 6% . =18
5% . =10 x2=14 2% =8 x2=18
4% =20 O9x1=_.. x4 =36 2% =8
10 % e, =100 ... x 4 =36 2% =10 x7=21
............. x5=35 e X 2=10 4% . =32 4% . =24

............. x3=27 5x7=........ 9% .......... = 36 4% =12
............. x5=20 4% ... =8 e X4 =8 e, X 2=16
............. x4 =36 9x4=_...... e X 1=10 e X3 =15
BX2= s x3=12 5% =25 4x2=

3 X i, =30 x2=16 3 X i, =27 10x10=..........
............. x7=35 5x9= ... v X2 =8 2% . =10
8X3=.is x2=8 9x5= ... 3 X i, =9

............. x4=16 6x3=........ 3x4=..... 2% . =20
2% =8 x4 =12 3 X =9 L x7=21
8X2= s x4=16 ... x2=18 ... x2=8

4x3=...... 5x2= ... 5X5= s x2=16
............. x3=18 6x3=........ 4% . =24 5x7=.......
TX o, =35 4% s =20 6x3=........ 4% =12
............. x4 =24 . X2 =8 2% ... =10 2x4=_.....
3 X i, =18 2% =12 2% =6 3x8= ...
............. x4 =36 10x8=....... 8x4=_..... 10x2=......
............. x5=40 e X2 =12 e X2 =20 e, X4 =24
............. x4 =28 10x10=........... Tx4=_..... e X 3= 24
............. x3=21 e X3 =15 4x3= . 2% .. =6
............. x2=16 3% .. =9 2x7T= ... 6x2=.......
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7Tx5= ... 3 X i,
6x3=....... 4% s
2% =12 2%
10x4 =, x4
4x1=...... 3 X i,
............. x2=14 5x2=

4% =16 TX s
6x2=...... 2%
1% =6 x3
10x10=iiiiies x 2

4% =20 x 2
............. x2=6 5% i,
4x7= ... 2%
............. x7=21 7Tx1=.....
8 X =16 4x4=......
7Tx5= ... 3 X i,
5x2=...... 4% s
2% =4 2%
2% =18 5x2=.......
9x1=...... 1% s

2% =18 x5
4% =32 3 X i,
8x4=_...... x2
6x3=........ 3 X i,
3 X i, =30 3x4=......
9x4=_... x 4
2% =6 4%
............. x4 =24 e X7
9x3=....... 5x3=.........
2% =16 2x2= ...

2% i =2 8 X i =
TX3= e 3 X i =
TX i, =14 9x2= ..
10x7=........... 7TX3= s
6x3= . 2% i =
3x5=.. 3 X i =
............. x4 =20 5X i =
2% i =8 2% i =
4% =40 4% s =
I3x2= . 8x3= ..
3 X e =12 3 X i =
............. x1=7 e X4 =
9x3= .. 10x2= ...
5x1=..... TX2= s
............. x1=9 TX i =
............. x2=12 2x1= .
4% s =32 7TX3= s
1% =6 x2=
6x1=..... 4% s =
1% =2 x4 =
4x4=_..... 2% i =
4% =4 9x4= ...
4% s =28 10 % e
............. x5=45 e X2 5
2x3= 5x7 = s
............. x2=14 8x3= .
3 X i =27 x4 =
4% =32 5x4= ...
5x5= ... 4% s =
............. x3=6 2% i =
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